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(3
| Instmction.i*_ -
(_i)- Allquestions are compulsory.. :
| (i) Use diagrams .and ﬂow diagrams if itis neces.sary in.ansv\'rer
(iii) Questian No. 1is objectlve type questlon Whlch has Section 'Al’ as
multlple choice qucstlon Sectlon 'B'as fill in the blanks and Section'C’ ag
match the column_. Each section- has 5 questions, Each question carry 1
mark, 7 |
(1v) Qucstlon No. 2to 7 are very shon answer type questions. Each questlon
carries 2 marks, Maxnnum word limit of answer is 30 words.
(V) Question No. 8 lto 13 are short answer type questlons‘ Each quectlon _
| carries 3 marks. Max1n1um word limit of answerls S0 words.
_‘(v-i.) Questlon No. 14 and 15 are long answer type questlons Each qucstlon :
- cames4marks Maxunum word llrmtof answerls 75 words
a (vi_i)- “Question No 16 and 17 are long answer type questlons Each question
camesS marks. Maxnnumword hmlt of answeris 100 words
(viii) Question No. 18 and 19 are very long answer type questlons Each
question camesﬁmarks Maxnnum word limit of answeris 150 words,
(ix)

" Question No 14 tol 9 havei mternal ch01ces
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CH
(TUs - 1)

(Section - A)

' Objective type questions

w1 (1) H@ﬁmmﬁaﬁm-

[I} Choeseand Write the correct option -

@ | u‘lﬁqwﬁwmaﬁﬁm%-

(%7) e

(@) dwy

'(Fr) FEF |

(R) Wiz

The center of Protein synthesis is -

'(a) Ribosome

(b) DN.A.
(é) Nucieus :

(d) - Mitochondria

[1x5=5]
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(i)

(i) -

)
ferforeait aran smar d -

(37) TN

(¥) ¥

(W) I
() IHa

Bilirubin is found in -

| (a) Stomach

(iii)

(@) Afeam, f, R |

(b) Teeth

(c) Pancreas

@ Liver
HEH FURE A e -

(37) mﬂméﬁm

(@) PRI
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| ©
(ﬁi) Whatis the order of bones ip theear ?
(e_l)‘ Incus, ma_lleus, stapes
(b); Malleus., 'incus, Stapes |
(c) ‘ Stapes, incus, mglleus
(d) - None of these.
(iv) Tt auteremors -
() co,
(@) s0, +NO,
(|) 03 |

(F) co

(iv)  Causes of aéid rain is-
® Cop
® 50+ No,
(©) 0 .

(d) o
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(v) mﬁw%—
(@) RNA dliat
(@) DNAF‘Feﬁn%ér
(¥) DNA @&
(%) YgwATE
(V) Whatare molecular scissors ?
" (3 RNAPolymerase
(b) DNAPolymerase
o Dt

(d) Restriction enzyme

(| -w)

) (Se‘c‘ﬁq_n-B) |
() Remwariwtgfdwmita -
'_[11] Finin_theblanké- I
(i) ¥ 5 ST T - T ¥
oy The haploid structure like heartis called..........
) S S S G
(i) .ooriicecreserene. hoTmone is used in the ripening of fruits.

'[1x5=5]
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@
(i) DNA%E@H%@@W'W——;————Q-—W@W%I‘
(i_ii). The work of joining the segments of DNA done by... S
. (iv) FRARATALT - ___3,
(iv) Diseasecaused by wormsis...... .
(v) Fovd— S R N
() Infermentation.............. enzymes work
(Came-w)
(T ) Sfoaaamer s —
R GO
() wEE L g

._(ii) ® o aifert
i) o o o 'DNA %
:(iv)ERﬁmT o mm |

.....

[1x5=5]
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|
(Seetion - C)
. (II1) Match the following -
(4) S ®
(i) Plasmid _ | - tissue culture
(i) Clone ' . Gibberellin
~ (iii} Flowering - DNA Vector

(iv) Starfish " . Livercirrhosis

| (v) Hepetitis virus - Echinodermeta -

g2 FEEiE N el MR AR A R TR T e [1+1-2]
Write the name of two specific Proteins that maké up the contractile muscle

fibers.

-3 W%ﬂﬁ?ﬁfﬂﬁﬁf@{l - o [1+1=2]

Write any two functions of Nuclcué-.
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o |
-4 Sl 5 T A A S 5 i) [1+1=2]
Write the name of male and female sex organs of Bryophyt:-:t.
TS T OE ) oy i | o [2]
* Write the definition of respiration quotient.
W6 TR TER R 2]
Whatare -Purkinje’ﬁbers ?
-7 ﬁéaﬁﬁiﬁﬁmﬁ;wamml [1+1=2]
Write the name and sources of any two antibiotics,
-8 'fgﬁﬁwﬁwmﬁnﬁﬁhﬁﬁaﬂé?ﬁqwfﬁf‘@m o [11m1=3]
' Write any three differences betweén dicot and morniocot plants. -
T 1-9 aﬁ%uga?ﬁ?a&mﬁﬁaq [

[1+1+1=3]
Write the three main features of Stem.
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(1

W-10 a?ﬁmmaﬁmmwwﬁfaml(ﬁs‘?ﬁq) o [xe=3]

-

Write the importance of Genetic Engihéering. (any three)

W11 WFH ST g 2 - | N £

Whatis the role of decomposers in the nature ?

w12 w@mwaﬁmmmwww%7 #rs‘?ﬁ?wﬁrﬁam [1x3=3]

- Why conservation of natural resources are necessary ? Write any three

" reasons.’

.m—wa‘mf(éa@?r)w%?waaﬁ%#mﬁﬁgm o [2+1+1=3]

Whatis Vaccine ? ‘Write any two names of Vaccine.

'ﬁ?ﬂ-u DNA'%W-W%WWWI' : o [4]

Describe the Wafson-Crick Model of DNA.
- (sreEr)
. (0R)
- DNA f5Tvr =t srefeeedt fafers avia ifi

Describe the Semi Conservative Method of DNA duplicaﬁon.
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[2+1+1-4]

| Draw a labelled dlagram of the parallal sectlon of the humen eye and write

thefunctlonsof anytwoparts. ©
| | ( \War)
(OrR)
'_'HFFitﬂ%aMﬂiaﬁ'snaﬂ%ai¥niﬁﬂiﬁrﬂnnﬁ$a'ﬁfﬁiﬁﬂﬂﬂfaﬁi?ﬁ ﬂﬂﬁ“&iaﬂ#
ﬁaﬁaq:

Draw a labelled dlagra.m of mtemal structure of the human bram and write

. the ﬁmctlons of any two parts.

wFI-16 ST IR R R T A A IRE T A FIG) [24305]
What is double circulatio_n ? Describe double circﬁlation inhuman,
(3rerar)

(OR)
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c , '(13)_
| mmmb 'WW'WMme |

Whatis Immunity ? Describe active and passive immunity,

=17 (30) wmww&aﬁaml

(F)  Frefiem  wvd fufag -
(i) wmm
(i) Weefy
(A) Drawalabelled diagram of human sperm.
(B)  Write the functions of the following-
- (i) Vasdeferens -'
(ii) Prostate gland
(oramr)
(OR)

(37) W%mﬁmmmﬂmﬁﬁaml |

(3) Profofea® s fafar-
| (i) i |

Gi) emoq

[3+2-5]
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(14).

-4 Draw alabelled dlagram of cross section of human ovary

(B)  Write the functmn of the following - -
() Uterus

(i) Placenta

mﬁs AT SR 3 T TS YR ey [1+3+2-fé]

Write the Causes, symptoms and treatment of hemorrhagic dengue fever.

ficiency
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(15}

- S o 1 e e e |

| ~ Describe the factors affecting the process of Transpiration.
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